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= RERE (M) g RERRST (m)

X g 1
[RFRZE 14.10 1 14.10
=)L - 0E— 2170. 49 1 270. 49
J02k 19. 68 1 19. 68
v0—7o 11.92 1 11.92
B=AYA4T (1) 50. 74 1 50. 74
B=EAYA1T (2) 41.39 1 41.39
BE=AYA1T (3) 40.80 1 40.80
B=EAYA1T (4) 47.96 1 47.96
E=HRAGEM (B - EBEER) 21.85 1 21. 85
FH=E (BE) 63. 46 1 63. 46
ZRE - 18558 - BEE 46.08 1 46. 08
BE (JJL) 120. 64 1 120. 64
BEDOEEMR (%) 10. 66 1 10. 66
BREDEEm (BEEER) 3.96 1 3.96
BB (FLoI—%5-) 90. 95 1 90. 95
BmE 1.14 1 7.14
iz N 8.26 1 8.26
FBESEHE - K8z 18.72 1 18.72
BAsE= 140. 40 1 140. 40
BIE 48.24 1 48.24
HKRY T 8. 84 1 8. 84
= 4.40 1 4.40
PEERZE A 38.82 1 38. 82
PEEXZ= B 16. 24 1 16. 24
ILAR—%5—A 9.57 1 9.57
ILAR—%5—B 4.84 1 4.84
BE 6. 27
RV 10.30
EEF-PS 215. 89

1 5 1,392. 61
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RERRET (m)

X B 2 K

B=BY(47 (1) 39. 68 1 39. 68
BE=BYA1T (2) 37.04 1 37.04
B=ECH1T (1) 54. 87 1 54. 87
B=CH17T (2) 56. 20 1 56. 20
E=HAEMR (Bx - BEER) 21.85 1 21.85
D= 88. 32 1 88. 32
AL - RT7—Y (HEEEX 2) 184.83 1 184. 83
AFrvy 30.16 1 30.16
IR (B —RE, £3K=) 53.36 1 53. 36
AchE= 41.58 1 41.58
SEEDSER (%) 26. 60 1 26. 60
maePTER (EEEH) 3.74 1 3.74
RREZE 16. 00 1 16. 00
A=E - Yo (B5F) 70. 91 1 70.91
A=E - Yo (&ZF) 70. 91 1 70.91
k= (5F) 40. 01 1 40. 01
k= (F) 40. 01 1 40. 01
VA= (1) - K= 17. 69 1 17.69
IVBZ (2) - K= 8. 66 1 8. 66
TR 10.12 1 10.12
BERIE 20. 58 1 20. 58
BAsE= 37.44 1 37.44
PEERZE A 38.82 1 38. 82
PEEXZ= B 16. 24 1 16. 24
ILAR—%5—A 9.57 1 9.57
ILAR—%5—B 4.84 1 4.84
BE 26. 11
RV 11.03
EEF-PS 420. 68

1 5 1,497. 85




= PRERE (M) g RERRET (m)

X B 3 K
B=BY(47 (1) 39. 68 1 39. 68
BEBYI1T (2) 37.04 3 111.12
B=EBY1T (3) 37.00 1 37.00
B=BYA1T (4) 36. 56 2 73.12
B=EBY1T (5) 38.33 1 38.33
B=BYAT (6) 37.88 1 37. 88
E=HAGEM (BX - EEER) 21.85 1 21. 85
FchE= 19. 00 1 19.00
= 20. 64 1 20. 64
PEERZE A 41.02 1 41.02
PEEXZ=B 16. 24 1 16. 24
ILAR—=%5—A 9.57 1 9.57
ILAR—%5—B 4.84 1 4.84
BE 10. 34
URVE 13.95
EFF-PS 204. 26
1 5 698. 84
P HR& 72. 81
* B & § 3,662. 11
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HE - BER 131.22
RO TR 16. 24
EBHMR 43.74
JONVE 8.76
Mt B &® & 5t 199. 96
i a 3, 862. 07




